H
S
L

—~
=
<)
=2
=
Q
o
[
=
o]

1072

T T IIIIIII
£
L

—

3 olheep

E. T [ o

3 o 1A1;—- Loy A i 1 R

E F + ; |

3 : : : 1F- st b bt #u~ ----------
0'7:—1“ : : » 2 3 - - - [ 2 3
10 1 TPlpg)T (PCA t%obeamlin:elf) 10 1 TPlpg)T (PCA t%obeamlin:elf)

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquarel5_step2_tt ar-ﬂhasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

= = 1
£ £

o O

S S

= ~

=}

S 2
©10%

.

o
I8

[any

o
I8

1

2 3
TPl[g)T (PCA f%)obeamlinéf)

a0 p,/p,)

107

e,
10% 1 i,

10

Rat

0.95




	Contents
	Page 1


